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Question 6

* [2 points] (Select objects) Highlight a spanning tree of the following directed graph by selecting the nodes and
edges in the spanning tree. Use the convention that parents point to their children

v Hint

A tree that contains all the nodes

« Select (or deselect) a node by mouse click or touch, select (or deselect) a directed edge by mouse drag or touch
“draqg” from one node to another. The selected nodes and edges should appear red

Clear |




Question 3
* [3 points] What 1s the minimum number of training tems that needs to be removed so that a Perceptron can learn
the remaining training set (with accuracy 100 percent)?
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Question 4
* |3 points] What s the minimum wf a binary (y 1s either 0 or 1) inear (threshold) classifier (for /V\ Z (94-
example, LTU perceptron) on the following data set?
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Question 10

- ‘F(X*l)2 — ]2-(’(“/)2

* [3 points] Which functions are (weakly) convex on R?

» Hint

* You can plot an expression of x

* Choices
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